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QUESTION 1

A sample snippet of an incoming message is shown below.

<StockExchange>
<Transaction>
<Referencelunber>3310005071701</ReferenceNunber >
<CurrencyCode=JEY</fCurrencyCode>
Walue=1000</ Values
<Date>12/31/201:</Datex
</ Transactions
</S3tockExchange>

A solution developer is asked to design a message model that only processes messages that contain an allowed list of
currency codes and rejects other messages. How can the solution developer modify the message model to achieve
this?

A. Add the allowed currency codes in Fixed Value.

B. Add the allowed currency codes in Default Value.

C. Add the allowed currency codes in Enumerations.

D. Add the currency codes in Block Substitution settings.

Correct Answer: C

QUESTION 2

Web service clients connect to a message flow that contains the SOAPInput node. The payload contains access
credentials within the SOAP Header as shown in the snippet below.

<soapenv: Header>
<msse:decurity>
<wsse:UsernaweTokens>
Zwase: Username>userl</wsse: Username>
swsse: Passwords>pwdl</wsse: Passuord>
</wsse UsernameToken>
</wsse:Zecurity>
</ zoapenv: Header >

Which external security provider can the solution developer use, to achieve this requirement?
A. Tivoli Security Policy Manager
B. Lightweight Third-Party Authentication

C. Lightweight Directory Access Protocol
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D. WebSphere DataPower XML Security Gateway

Correct Answer: C

QUESTION 3

A message flow developer needs to create a message definition to model a COBOL document that starts with the
following definition.

01 CU3TCMER-RECORLD.

05 TYPE-OF-HAME PIC X.
88 PERSON VALUE 0.
88 CORPORATION VALUE 1.
05 CUSTOMER—NAME .
10 LAST-NAME PIC (15).
10 FIRST-NAME PIC (8).
05 COMPANY-NAME REDEFINES CUSTOMER-NAME
PIC XE[23).

Using the MRM-TDS physical format, what type of message model should the solution developer create?
A. A single message definition that contains a tagged/fixed length choice.

B. A single message definition that contains a tagged/fixed length sequence.

C. Two message definitions, one tagged/delimited and one tagged/fixed length.

D. Two message definitions, both tagged/fixed length.

Correct Answer: A

QUESTION 4

A customer uses a shared AIX server to store their source code and for building their source code for deployment. What
command must the solution developer use on this server to create a broker archive (BAR) file?

A. mgsireadbar

B. mgsicreatebar

C. mgsipackagebar

D. mgsiapplybaroverride

Correct Answer: C

QUESTION 5

A company has its own internal application Appl which exposes its products price catalog to its clients via MQ transport
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protocol. The company needs to build a new proxy mediation application using Message Broker to expose its service to
external clients. The suggested mediation flow would accept the request from different clients, route the request to Appl
and send the response back to the requesting client where each client has its own target queue. Which built-in pattern
should the solution developer use to achieve this?

A. Message Request Response Correlator

B. Service Proxy: static endpoint pattern

C. Service Access from WebSphere MQ

D. Service Facade to WebSphere MQ: request-response pattern

Correct Answer: A
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